
  

1 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

 
 
 
 
 

 

SIMPLE INTEREST WORK SHEET   
 
BOOK SOURCE SPLIT UP  
 

TITLE STD NEW OLD TERM Exercise 

Simple Interest 7 OLD 3 2.5 

 7 NEW 3 2.4, 2.5 

R.S.AGGARWAL  
(2020 Edition) 

          Page No: 641 – 662 

 
Important Points:  
 

 Principal is the money borrowed or lent. 
 

 Interest is the additional money given by the borrower to use the principal 
for a certain period of time 
 

 Rate of interest is the percentage of the principal paid every year. 
 

 Time is the period for which the money is borrowed or lent. 
 

 Amount is the total money returned by the borrower to the lender after a 
certain period of time. It is found by using Amount = Principal + Interest. 
 

 Simple interest can be calculated by using 
100

P n r 
, where P – Principal, r – 

Rate of Interest, n – Time. 
 

SIMPLE INTEREST WORK SHEET 

 
1. Find the simple interest ` 25,000 at 8% per annum for 3 years? 

` 25,000f;F 8% tl;b tPjk; 3 Mz;LfSf;Fj; jdptl;b fhz;f? 
a. ` 600  b.  ` 6,000  c. ` 60,000  d. ` 7,000 
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2. Arjun borrowed a sum of ` 5,000 from a bank at 5% per annum.  Find the 
amount to be paid at the end of three year. 
mu;[{d; xU tq;fpapypUe;J Mz;Lf;F 5% tl;b tPjk; ` 5000If; fldhfg; 
ngw;whu;.  %d;W Mz;Lfspd; Kbtpy; mtu; nrYj;j Ntz;ba nkhj;jj; 
njhifia fhz;f. 
a. ` 5,750  b. ` 5,500  c. ` 6,500  d. ` 4,500 

 
3. Shanti borrowed ` 6,000 from a Bank for 7 years 12% per annum.  What 

amount will clear off her debt? 
rhe;jp xU tq;fpaypUe;J> Mz;Lf;F 12% tl;b tPjk; ` 6,000I 7 
Mz;LfSf;Ff; fldhfg; ngw;whu; vdpy;> 7 Mz;Lfs; fopj;J mtu; vt;tsT 
gzj;ijr; nrYj;jpdhy; fld; jPUk;? 
a. ` 5,040  b. ` 11,040  c. ` 11,050  d. ` 4,530 
 

4. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per 
annum is         ` 750. Find the sum. 
FkuNty; xU Fwpg;gpl;lj; njhiff;F 10% tl;b tPjk; 2 Mz;Lfs; fopj;J ` 
750I jdptl;bahfr; nrYj;jpdhy;> mriyf; fhz;f. 
a. ` 3,500  b. ` 3,900  c. ` 4,000  d. ` 3,750 
 

5. Find the simple interest on ` 35,000 at 9% per annum for  2 years? 
` 35,000f;F Mz;Lf;F 9% tl;btPjk; ,uz;L Mz;LfSf;Fj; jdptl;biaf; 
fhz;f. 
a. ` 6,300  b. `  6,700  c. ` 6,500  d. ` 6,900 
 

6. Basha borrowed ` 8,500 from a bank a particular rate of simple interest.  
After 3 years, he paid ` 11,050 to settle his debt.  At what rate of interest he 
borrowed the money? 
ghl;~h vd;gtu; xU tq;fpapypUe;J xU Fwpg;gpl;l jdptl;b tPjj;jpy; ` 
8,500If; fldhfg; ngw;whu;.  %d;W Mz;Lfs; fopj;J mtu; ` 11,050Ir; 
nrYj;jpf; flid milj;jhu; vdpy; tl;b tPjk; vt;tsT? 
a. 5%   b. 10%  c. 15%   d. 20% 
 

7. A sum of ` 48,000 was lent out at simple interest at the end of 2 years and 3 
months the total amount was ` 55,560.  Find the rate of interest per year. 
fldhf toq;fg;gl;l mry; ` 48,000f;F 2 Mz;Lfs; 3 khjf; fhyj;jpw;Fg; 
gpd; jdptl;b %yk; ngwg;gl;l nkhj;jj; njhif ` 55,560 Mf ,Ue;jJ vdpy;> 
tl;b tPjj;ijf; fhz;f. 
a. 5%   b. 6%   c. 8%   d. 7% 
 

8. Which among the following rate of interest yields an interest of  ` 200 for the 
principle  ` 2,000 for one year. 
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gpd;tUk; tl;b tPjj;jpy; vJ ` 2,000 mrYf;F Xuhz;Lf;F ` 200I 
jdptl;bahff; nfhLf;ff;$bajhf ,Uf;Fk;? 
a. 10%   b. 20%   c. 5%   d. 15% 
 

9. Riya bought ` 15,000 from a bank to buy a car at 10% simple interest.  If she 
paid ` 9,000 as interest while clearing the loan, find the time for which the 
loan was given. 
upah vd;gtu; kfpOe;J thq;Ftjw;fhf ` 15,000I 10%jdptl;b vd;w tPjj;jpy;  
fldhfg; ngw;whu;.  mtu; ` 9,000If; flid Kbf;Fk; jUthapy;> tl;bahfr; 
nrYj;jpdhu; vdpy;> flidg; gad;gLj;jpa fhyj;ijf; fzf;fpLf. 
a. 5 years  b. 3 years  c. 7 years  d. 6 years 
 

10. In simple interest, a sum of money doubles itself in 10 years.  In how many 
years it will get triple itself. 
jdptl;bapy; xU mry; 10 Mz;Lfspy; ,U klq;fhdhy; me;j mry; 
Kk;klq;fhf khWtjw;F my;yJ caUtjw;F vj;jid Mz;Lfs; MFk;? 
a. 15 years   b. 20 years  c. 30 years  d. 35 years  
 

11. In simple interest, a sum of money amounts to ` 6,200 in 2 years and ` 6,800 
in 3 years.  Find the rate of interest. 
xU njhif xU Fwpg;gpl;l  jdptl;b tPjj;jpy;  2 Mz;Lfspy; ` 6>200 
vdTk;> 3 Mz;Lfspy;  ` 6,800 vdTk; cau;fpwJ vdpy; tl;b tPjj;ij 
fhz;f. 
a. 10%  b. 12%   c. 15%  d. 8% 
 

12. In a principal is getting doubled after 4 years, then calculate the rate of 
interest.  
Xu; mryhdJ 4 Mz;Lfspy; ,uz;L klq;fhfpwJ vdpy;> tl;b tPjj;ijf; 
fhz;f. 
a. 20%  b. 30%  c. 25%  d. 15% 
 

13. A principal becomes ` 10,050 at the rate of 10% in 5 years.  Find the principal. 
Xu; mry; Mz;Lf;F 10% tl;b tPjj;jpy; 5 Mz;Lfspy; ` 10,050Mf 
cau;e;jJ vdpy;> mriyf; fhz;f. 
a. ` 3,350  b. ` 3,700  c. ` 6,700  d. ` 6,000 
 

14. Radhika invested ` 5,000 for 2 years at 11% per annum.  Find the amount 
received by him at the end of 2 years. 
uhjpfh Mz;bw;F 11% tl;b tPjj;jpy; ` 5,000I 2 Mz;LfSf;F KjyPL 
nra;fpd;whu;.  ,uz;lhk; Mz;bd; Kbtpy; mtu; ngWk; njhifia fhz;f. 
a. ` 6,100  b. ` 6,300  c. ` 6,500  d. ` 5,100 
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15. Find the amount due on ` 7,500 at 8% per annum for 1 year 6 months. 
` 7,500f;F 8% tl;b tPjk; xU tUlk; 6 khjq;fSf;fhd; njhifia fhz;f. 
a. ` 9400  b. ` 8400  c. ` 8000  d. ` 9000 
 

16. Find the simple interest due on ` 6,750 for 219-days at 10% per annum. 
` 6,750f;F 219-ehl;fSf;F 10% tl;b tPjk; jdptl;bia fhz;f. 
a. ` 550  b. ` 450  c. ` 500  d. ` 405 
 

17. A sum of money triples itself at 8% per annum over a certain time.  Find the 
number of years. 
xU Fwpg;gpl;l mryhdJ 8% tl;b tPjj;jpy; vj;jid Mz;Lfspy; %d;W 
klq;fhFk; vdf; fhz;f? 
a. 20 years  b. 10 years  c. 25 years  d. 15 years 
 

18. A certain sum of money amount to ` 8,880 in 6 years and ` 7,920 in 4 years 
respectively.  Find the rate percent. 
xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; ` 8,880 MfTk; 4 Mz;Lfspy; ` 
7,920 MfTk; khWfpwJ vdpy;; tl;b tPjj;ijf; fhz;f. 
a. 8%   b. 10%   c. 7%   d. 9% 
 

19. Sathya deposited ` 6,000 in a bank and received ` 7500 at the end of 5 years.  
Find the rate of interest. 
rj;ah ` 6,000I xU tq;fpapy; nrYj;jp 5 Mz;Lfspd; Kbtpy;  ` 7500I 
ngw;whu; vdpy;> tl;b tPjj;ijf; fhz;f. 
a. 3%   b. 5%   c. 7%  d. 10% 
 

20. Find the principal that earns ` 250 as S.I. in 
1

2
2

years at 10% per annum. 

10% tUl tl;b tPjj;jpy; 
1

2
2
;Mz;Lfspy; ` 250 tl;bahfj; jUk; mry; 

njhifiaf; fhz;f. 
a. ` 500  b. ` 750  c. ` 1000  d. ` 1500 
 

21. A sum of money doubles itself at 
1

12
2

% per annum over a certain period of 

time.  Find the number of years. 

xU njhifahdJ 
1

12
2

% Mz;L tl;b tPjj;jpy; xU Fwpg;gpl;l Mz;Lfspy; 

,ul;bg;ghfpwJ.  Mz;Lfspd; vz;zpf;ifiaf; fhz;f. 
a. 8 years  b. 10 years  c. 12 years  d. 15 years 
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22. Find amount on ` 3,600 at 15% p.a. for 3 years and 9 months. 
` 3,600f;F 15% tl;b tPjj;jpy; 3 Mz;Lfs; 9 khjj;jpy; ngwg;gLk; njhifia 
fhz;f. 
a. ` 5,168  b. ` 5,625  c. ` 5,805  d. ` 5,300 
 

23. Find the principal that earns ` 2,080 as S.I. 
1

3
4

in years at 16% p.a. 

16% tl;b tPjj;jpy; 
1

3
4
 Mz;Lfspy; ` 2,080 tl;bahfj; jUk; mry; 

njhifiaf; fhz;f. 
a. ` 5000  b. ` 40,000  c. ` 4000  d. ` 14,000 
 

24. Find the rate percent at which, a sum of money becomes 
9

4
times in 2 years. 

Xu; mryhdJ 2 tUlj;jpy; 
9

4
klq;fhf MFnkdpy;> mjd; tl;btpfpjk; 

vt;TsT? 
a. 62.5%  b. 72.5%  c. 100%  d. 50% 
 

25. The simple interest on a sum of money is 
9

16
 of the principal.  Find the rate 

percent and time if both are numerically equal. 

xU Fwpg;gpl;l njhifapd; jdptl;bahdJ mrypd; 
9

16
klq;Ff;F rkk;.  

tl;btPjKk;> tUlKk; vz; kjpg;gpy; rkkhf ,Uf;Fk;NghJ tl;b tPjj;ijAk; 
tUlj;ijAk; fhz;. 

a. 
1

8
2

%, 
1

8
2

years  b. 7%, 7 years c. 
1

7
2

%, 
1

7
2

years  d. 8%, 8 years 

 
26. A sum of ` 46,000 was lent out at simple interest and at the end of 1 year and 

9 months, the total amount was ` 52,440.  Find the rate of interest per year. 
mry; ` 46,000I 1 Mz;L 9 khjf; fhyj;jpw;Fg; gpwF jdptl;b %yk; 
nkhj;jj; njhifahf ` 52,440Mf cau;e;jJ vdpy;> tl;b tPjj;ijf; fhz;f. 
a. 6%   b. 7%   c. 8%   d. 10% 
Solution: 

  P = Rs. 46000 
  N = 1 year 9 months 

      = 1 + 
9

12
 = 

7

4
 year 

         Amount = Rs. 52440 
          S.I = 52440 – 46000 = Rs. 6440 

  S.I = 
100

PNR
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
46000 7

6440
4 100

R 



 

     R = 8% 
 

27. Rahul borrowed ` 4,000 on 7th of June 2006 and returned it on 19th August 
2006.  Find the amount he paid, if the interest is calculated at 5% per annum. 
uhFy; 7-6-2006 md;W ` 4,000I fldhfg; ngw;W mij 19-8-2006 md;W jpUk;g 
nrYj;jpdhu;.  5% tPjk; tl;b fzf;fplg;gl;lhy; mtu; nrYj;jpa njhif 
vt;TsT? 
a. ` 4000  b. ` 3600  c. ` 4400  d. ` 4040 
 Solution: 

  P = Rs. 4000 

  N = 73 days = 
73

365
 year = 

1

5
 year 

  R = 5% 

  S.I = 
100

PNR
 

       = 
4000 1 5

5 100

 


 = 40 

 Amount = P + S.I = 4000 + 40 = Rs. 4040 
 

28. A man invested 
1

3
of his capital at 7%, 

1

4
at 8% and the remainder at 10%.  If 

his annual income is ` 561, the capital is 

xU kdpjd; jdJ %yjdj;jpy; 
1

3
 gq;if 7% tl;b tPjj;jpYk; 

1

4
 gq;if  8% 

tPjj;jpYk;> kPjKs;sij 10% tPjj;jpYk; KjyPL nra;fpwhu;.  mtuJ tUl 
tUkhdk; ` 561 vdpy; mtuJ %yjdk;. 
a. ` 5,400  b. ` 6,000  c. ` 6,600  d. ` 7,200 
Solution: 

  
7 8 10

561
3 100 4 100 3 4 100

P P P P
P

     
            

     
 

            
7

561
300 50 24

P P P
    

             42P +36P + 75P = 1009800 

              P = 
1009800

153
 = Rs. 6,600 

 
29. Vaideesh deposits ` 500 at the beginning of every month for 5 years in a post 

office.  If the rate of interest is 7.5%.  Find the amount he will receive at the 
end of 5 years. 
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itjP]; vd;gtu; ` 500I xt;nthU khjj; njhlf;fj;jpYk; Xu; mQ;ryfj;jpy; 5 
Mz;LfSf;Fr; nrYj;Jfpwhu;.  tl;b tPjk; 7.5% vdpy; 5 Mz;Lfs; Kbtpy; 
mtu; ngWk; njhif vt;TsT? 
a. ` 35718.75  b. ` 37518.75  c. 37581.75  d. 35817.75 
Solution: 

  Amount deposited every month, P = Rs. 500 
      No. of months, n = 512 = 60 months 

Rate of interest, R = 
1

7
2

 % = 
15

2
 % 

       Total deposit made = Pn  
           = 50060 = Rs. 30,000 

Period for recurring deposit 

N = 
1 ( 1)

12 2

n n 
 
 

 

    = 
1

60 61
24

   = 
305

2
 

          Interest, I = 
100

PNR
 

             = 
305 15

500
2 2 100

 


 = Rs. 5718.75 

        Total Amount = Pn  + 
100

PNR
  

                = 30,000 + 5,718.75 = Rs. 35718.75   
 
 

30. Mr. Thomas invested an amount of Rs. 13,900 divided in two different 
schemes A and b at the simple interest rate of 14% p.a. and 11% p.a. 
respectively. If the total amount; of simple interest earned in 2 years be Rs. 
3508, what was the-amount invested in Scheme B ?) 
jhk]; vd;gth; & 13>900 I ,uz;lhfg; gphpj;J A kw;Wk; B vd;w ,U 
ntt;NtW jpl;lq;fspy; KjyPL nra;fpwhh;. A jpl;lj;jpy; 14% tl;btPjj;jpYk;> 
B jpl;lj;jpy; 11% tl;b tPjk; nfhz;L fzf;fplg;gLk; NghJ 2 tUlj;jpy;  
fpilf;Fk; tl;b & 3508 vdpy; 'B" vd;w jpl;lj;jpy; KjyPL nra;j njhif 
vt;tsT?  
a. Rs 6400   b. Rs. 6500   c. Rs. 7200   d. Rs 7500 
Solution: 

   14% of 13900 11% of 13900 
             (1946)        (1529) 

               
                1754  

               
    225         192 

 75        64 
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   139 part = 13900 
     64 part = 6400  
 The amount invested in Scheme B is Rs. 6400 

 
 

SIMPLE INTEREST Work Sheet Answer Key  
 

1 2 3 4 5 6 7 8 9 10 

B A B D A B D A D B 

11 12 13 14 15 16 17 18 19 20 

B C C A B D C A B C 

21 22 23 24 25 26 27 28 29 30 

A B C A C C D C A A 

 
 

 


